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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘O’ can
be represented by 21, 66, etc., and ‘L’ can be represented by 23, 88, etc.
Similarly, you have to identify the set for the word “TIGHT”

T QG Had Uh EA-HIE aRT oiar I ¥, ot 6 faweut A @
ot v A G ¥ Raeut # Bu ov dwar-gep 3wt & o aat
grRT gofw v ¥, Skt @5 RBu v & eyt & 1 3nepl & TaEd 3R
ufeh & dEar 0 @ 4 § 3R e H 5 F 91 3T YRl F UH HaW
B Ul IHH Ufh AR alg FH TAFEH T ERT T S FHhAT §
3GIRROT & fow ‘O’ &t 21, 66, TG RT GA™T S Fhaml & AT ‘L’ &l 23,
88, Ife gRT AT S Tdhar &1 W Re & IUH A #A U g
“TIGHT” & fow T @ upaEar #1

Matrix-I Matrix-Il
gl 3gg-l
0(1(2|3]|4 5|/6[7|8]|9
O|B(T|F|I|C S|ZJUlJ|S |G
1|RIE|[I |M|T 6(HIO|Q[M]|J
2| X|O|UJLJ|E 7|K[P|V|S|N
3|I1|E|Z|B]|G 8|E[G|O|L|R
4(S|H|B|O|J 9(T|F|X|O|A

Options:
1) 14, 03, 85, 65, 01

2) 01, 30, 85, 40,95
3) 95, 30, 86, 66, 23

4) 95,12, 59, 65,14
Correct Answer: 95,12, 59, 65, 14
Candidate Answer: 95, 12, 59, 65, 14

QID : 204 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3R WAt F ¥ 3@ I FglA F AT
Sra # oy ampfa R ©

AVA
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Options:

1)

3)

/N

|
/|

Correct Answer:

Candidate Answer:

QID : 205 -
Which answer figure will complete the pattern in the

question figure?
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ons:

4

Correct Answer:

N\

Can

didate Answer:

N\

QiD

1206 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ife m cUUT F AB T@1 W @I AW, ar & T
IR HHAA A B Bla A Hpla T FPa Hr

g ufafaea aef?

Ak B
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Options:

1)

N
~

w
~

'S
=

3| 2] | @) |

Correct Answer:

&

Candidate Answer:

2

QID : 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

# & oy gplaal # R@mw sgErR Fee @t
Az Ve JUT Wheld & ag I hT IR JHA
s fere om?

A4 114
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Options:

1)

4

Correct Answer:

©go0®°

Candidate Answer:

QID : 208 - What will come in place of question mark (?) in the given equation?
48732716764
g g Tfienvor & ger g (?) & T W T STgm?

48732716764
Options:

1)+ xand >

=, x T >

2) +,+and =
+,+dqAT =

4) x,+and >

x, + quUr >

Correct Answer: x, = and >
X, + quUT >

Candidate Answer: x, ~ and >
X, < qUT >

QID:209-1f64#53x2=13and13#7x1=7,then4#8x19="2

64 #53x2=13aqM13#7x1=78, A 4#8x19=2?
Options:

115

2) 23

3) - 31

4) -39

Correct Answer: 15

Candidate Answer: 23
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QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Krill
2. Krone
3. Kraa
4. Kente
5. Kroon

frfafaa sreal ot eregerier & o atet o & SIgER |

1. Krill
2. Krone
3. Kraa
4. Kente
5. Kroon

Options:
1) 43125

2) 45123
3) 42135

4) 43251

Correct Answer: 43125

Candidate Answer: 43125

QID : 211 - In the following question, select the missing number from the given series.
103, 107, 105, 109, 107,111, 109, ?

Frfafea w7 Ry Y fenedt & @ g ofcs 31 AifSiq)

103, 107, 105, 109, 107, 111, 109, ?

Options:
H111

2)113
3)117

4)107
Correct Answer: 113
Candidate Answer: 113

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
D,FI,MR,?
Ueh S1eRH foam mn &, fored € Uk U g &1 Ry 1Y faeredt A @ g wel faenen gAY, St srgehd il g e

D,FI,MR,?
Options:
HwW

2) X

3)Y

47z
Correct Answer: X
Candidate Answer: X

QID : 213 - In the following question, select the odd word from the given alternatives.

et uer 7 Ry 7q Rrereat & @ fowm <1t @t gl
Options:

1) Diary

Y

2) Paper
RIS

3) Pen
heH

4) Copy
Eapil

Correct Answer: Pen
heTH

Candidate Answer: Pen
el

QID : 214 - In the following question, select the odd number pair from the given alternatives.

ffafEa uw & Ry e Reet & @ fwm g gm @t gl
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1)p gg,g%bo
2) 30,27000
3) 40,64000
4) 50,25000

Correct Answer: 50,25000
Candidate Answer: 20,8000

QID : 215 - In the following question, select the odd letters from the given alternatives.

frafafea us # Ry q faenedt & @ v s1eri ot gl
Options:

1) HIG

2) LMK

3)STR

4) WXz

Correct Answer: WXZ

Candidate Answer: WXZ

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Language, Hindi, English

Ig IIRE g 11 A4 g 71Q a1 o offer o Hefer o1 9t FAeuor v g

Options:
1)

2

3

4

© ¥ ©

Correct Answer:

Candidate Answer:

QID : 217 - In the following question, select the related word from the given alternatives.

Doctor : Hospital : : Lawyer : ?
fafafEa vy F Ry e Reet & @ efda g @t gl
fafrese : eregare : : adfile : ?
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") Black

hTell

2) Court

qrgrerd

3) Justice
™

4) None of these
Y

Correct Answer: Court
T

Candidate Answer: Court

AT

QID : 218 - In the following question, select the related number from the given alternatives.
206:193::309:?

At wer 7 Ry Qg feredt # & Hefda Jw=n &t gihgl

206:193::309:?

Options:
1) 298

2) 294

3) 296

4) 290

Correct Answer: 296

Candidate Answer: 296

QID : 219 - In the following question, select the related letters from the given alternatives.
FOG:GMJ::REP:?

frfafEa uer & Ry g fereat & @ Tefda srert &t gl

FOG:GMJ::REP:?

Options:
1) TCT

2) SBT
3) TBS

4) SCS
Correct Answer: SCS
Candidate Answer: SCS

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
ARGUABLE
ffafEa e 7 & g8 e 9w St Ry 7y 21eg & 31eRl T TR shedh el ST S Geha |

ARGUABLE
Options:
1) ABLE
2) BLUE
3) BARE

4) SURGE
Correct Answer: SURGE
Candidate Answer: SURGE

QID : 221 - W walks 13 km towards south. He turns left and walks 16 km. He turns left and walks 13 km. How far (in km) is he from his starting point?

W faror dr ok 13 5. . Tcrar &1 a8 ardi ok gar & au1 16 5., arar 81 ag arff ofik ggar & aur 13 f. ). 9@ 81 a8 e e farg @ fonaht gt (Rl ) m @2

Options:

1)13

2)16

3) 29

4) v425

Correct Answer: 16

Candidate Answer: 16

QID : 222 - Ken is 5 years younger to Ben. Ben is 2 years older to Sen. Sen is 7 years younger to Pen. Pen is 6 years older to Zen. Who is the eldest?

F, A5 I BTG 3, TG 2 TSI 81 B, T @ 7 a¥ Sl 81 99, 9 & 7 TN 991 § | T TST HH 82
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Options:
1) Ken
&

2) Ben

e

3) Sen

T

4) Pen

o9

Correct Answer: Pen

Candidate Answer: Ben

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. No red is green.
IIl. No green is blue.

Conclusions:
I. No red is blue.
Il. Some red are blue.

12 g 7T st A o Sy ok 3 I1% I el R SR g ey g g €, gTerifon I S A1d a2t @ fradr gt wedt 81 et ey o ofk iRk freiRa R R Ry g @
@ fsend, few 7g et & SR WR gRAETd €1

<hy-:
|. hYE <1t BT ol 31
1. &3 g1 fem T8t 1

frsepd:
|. Y T el BT 81
Il. T @ i E1

Options:
1) Only conclusion (1) follows.
had ey (1) gt 21
2) Only conclusion (Il) follows.
et et (Il) T& 21
3) Both conclusi%n follow.
I
4) Neither conclusion (1) nor conclusion (11) follows.

7 at e (1) 7 &€ e (1) @€l &1

Correct Answer: Neither conclusion (1) nor conclusion (11) follows.

7 a P (1) 7 & Frsed (1) Tt 81

Candidate Answer: Only conclusion (1) follows.

et P (1) €1 81

QID : 224 - In a certain code language, "MAZE" is written as "OCBG". How is "JUNK" written in that code language?

ok fAfre e T &, "MAZE" Y "OCBG" forar SiTa & | 39 ohte wT § "JUNK" ot fohet R forar simgem?

Options:
1) LWOM

2) LWPM
3) KWOM

4) LVON
Correct Answer: LWPM
Candidate Answer: LWOM

QID : 225 - In a certain code language, "DID" is written as "17" and "ATE" is written as "26". How is "AIM" written in that code language?

ek fAfre s 9o &, "DID" @t "17" G "ATE" @t "26" foaT STt &1 39 ahis omor & "AIM" ot fohg wepR forar straem?

Options:
1)24

2)23
3)25

4) 22
Correct Answer: 23
Candidate Answer: 23

QID : 226 - If the difference of two numbers is 4 and the difference of their squares is 64, then which is the smaller of the two number?

Tfe 3t Tl ol 3iaR 4 & TUT Ik G T 3R 64 8, at 1 & T BIEY Tear oty Y &2
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Options:
1)10

2)6
3)4
48

Correct Answer: 6
Candidate Answer: 6

QID : 227 - What is the value of 0.03010?

0.03070 T AT T §?

Options:

1) 301/100

2) 301/1000
3)301/10000
4) 301/100000

Correct Answer: 301/10000
Candidate Answer: 301/10000

QID : 228 - A number when divided by 12 leaves remainder 9 is obtained. What will be the remainder when the same number is divided by 3?

Uk AT Y 519 12 § 9T foRaT 7T & ot Siwher 9 UTed BT &1 It Tt Rl e 3 & T e Sy, ot Siwhe Rt giemr?
Options:

1)1

2)0

3)2

4)4
Correct Answer: 0
Candidate Answer: 0

QID : 229 - If 8543P is completely divisible by 8, then what will be the digit in place of P?

af& 8543P, 8 § gufa: fa=nfSid &, dt P & T W &1 41 Sfeh STgm?

Options:
1)2

2)4
3)8

46
Correct Answer: 2
Candidate Answer: 2

QID : 230 - What is the HCF of 8,12 and 15?

8, 12 9T 15 Hg<H GHTUGdh T §?
Options:

Correct Answer: 1
Candidate Answer: 1

QID : 231 - What is the LCM of 4, 6 and 9?

4, 6 JUT 9 TYTH TG HIT 82

Options:

1)18

2) 36

3)1

4) 42

Correct Answer: 36
Candidate Answer: 36

QID : 232 - Working 12 hours a day, Vaibhav can complete a piece of work in 28 days. How many hours a day should he work so as to finish the work in 21 days?

UfATE 12 62 e ek, G fonelt ohrdf ant 28 fAT 5 O i TerelT &1 & @t 21 Rt & T et s g 3 Ufafe foha €@ s et ghmm?
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1)12
2)16
3)15

4)18
Correct Answer: 16
Candidate Answer: 16

QID : 233 - A is twice as good as B and together they finish a piece of work in 24 days. In how many days can A alone to finish the work?

A &Y & 1T B & T © 7T 3 &A1 erens el st et 24 AT H qR1 R b &1 A STohelT 39 i ol fohae Rt H U1 e TehalT 87
Options:

Correct Answer: 36
Candidate Answer: 36

QID : 234 - If the ratio of edges of two cubes is 2 : 3, then what is the ratio of the volume of the two cubes?

& & T <hT ST &1 SIgUTd 2 @ 3 8, df QT =1 & ST oAl SR SIIUTd §ITT?

Options:
1)8:27

2)4:9
3)2:3

4)4:27
Correct Answer: 8 : 27
Candidate Answer: 8 : 27

QID : 235 - A trader allows two successive discounts of 20% and 10% while selling an article. If he gets Rs 720 for that article, then what is the marked price of the
article?

Qe forsha foneft ag ot S T3 20% AT 10% Y & Shffieh Pe &aT &1 afe &lE 38 720 3 H TTed e &, <1 a%g T Sifchd Hew aam 87

Options:
1) 1000

2) 1150
3) 960

4) 1200
Correct Answer: 1000
Candidate Answer: 1000

QID : 236 - What is the net discount for two successive discounts of 20% and 20%?

20% AT 20% & &l THANTA Fe fond Fae (7€) Pe & SRR 87

Options:
1) 36

2) 40
3)42

4) 44
Correct Answer: 36
Candidate Answer: 36

QID : 237 - If 6/7 of P = 4/5 of Q, then whatis P : Q?

afe P &1 6/7 = Q &1 4/5 8, Y P : Q &1 gh?

Options:
1)7:5

2)14:7
3)14:15

4)8:7
Correct Answer: 14:15
Candidate Answer: 14 : 15
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QID : 238 - Two numbers are in ratio 3 : 7. If their difference is 60, then what is the smaller of the two numbers?

S Tesil &7 S1guTd 3 @ 7 81 IS ITent Siek 60 §, I A A § BIET HAT S I 5?7
Options:

1) 45

2) 30

3)60

4)75
Correct Answer: 45
Candidate Answer: 45

QID : 239 - The average of 5 numbers is 10 and that of other 20 numbers is 40. What is the average of all the numbers?

5 T3t vt ST 10 T 317 20 TRearait ot 3fra 40 &1 goft Tensii &1 eitwa i 82
Options:

1) 34

2) 40

3) 41

4) 45
Correct Answer: 34
Candidate Answer: 34

QID : 240 - If chairs are bought at Rs 400 each and sold at Rs 500 each, then what will be the profit percentage?

s HRAT Y 400 % AT Heil Sl R T @heae 500 T Tl HT i &R & o g S g, df s ufaera @ gm?

Options:

1) 10%

2) 20%

3) 25%

4) 60%

Correct Answer: 25%
Candidate Answer: 25%

QID : 241 - A man gains 10% by selling an article for a certain price. If he sells it at double the price, then what will be the profit percentage?

U g% ol fonelt FAfa e R Se Ue aafth 10% 1 AT 81 TS 98 9 a%q i QNI hiFd UR &1, A AT &t Ifderd &t g
Options:

1) 110

2)120

3) 150

4) 140
Correct Answer: 120
Candidate Answer: 120

QID : 242 - If income of A is 10% more than the income of B and the income of B is 20% more than the income of C, then the income of A is how much percent more
than the income of C?

afe A &t 31, B it 3 § 10% 31fdeh § a1 B ht 311, C Y 31 & 20% 1fdak &, at A &Y 31, C i 3 ¥ forat wfasra sifdes ghf?
Options:

1)10

2) 30

3)32

4) 22
Correct Answer: 32
Candidate Answer: 32

QID : 243 - If the price of an article is increased by 33.33%, then to restore its former value by what percent the new price should be decreased?

foreit avg o HJea # 33.33% I gfeg I ST 8, A UGt o e i TG 3@ o ToIQ 13 e ot foha = UFIRId A e gITT?
Options:

1) 20

2) 25

3)10

4) 33.33

Correct Answer: 25

Candidate Answer: 33.33
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QID : 244 - Speed of a boat along the current and against the current are 16 km/hr and 14 km/hr respectively. What is the speed (in km/hr) of the current?

ek 7a Y I 4T & et AT URT & Ufddher feam & shmsr: 16 b /ger qur 14 fh . /ger &1 ey Ry ify (.. /der F) /@2
Options:

1)1

2)2

3)3

4)15

Correct Answer: 1

Candidate Answer: 15

QID : 245 - A person goes from point J to K with a speed of 80 km/hr and returns back with a speed 120 km/hr. What is the average speed (in km/hr) of the person
while going from J to K and coming back?

e aaf<h 80 foh.Ht./der i TR @ fifg J & K aeh Sirar & a2 120 s #./ger &t 1fq § aruw stear 81 J @ K d ST a2 arow o § afh Y sitad wfa (k. #./ger 7) a2

Options:
1) 90

2) 96

3) 100
4) 104

Correct Answer: 96
Candidate Answer: 96

QID : 246 - An amount becomes 4 times in 2 years when kept in a scheme of simple interest. In how many years will it become 22 times?

ek SFIRTIRY TIEROT TSt aTeft Atar1 § a1 et R 2 a # 4 77 8t Sieft &1 ag 22 71 foha= awit 7 gf simeef?

Options:

1)10

2)14

3)12

4)16

Correct Answer: 14
Candidate Answer: 12

QID : 247 -

The table given below shows the imports and
exports (in crore rupees) of Sugar for five
consecutive years.

@ & g arfeer # 9ig FAEE asf & fore ==
F 3T T FAT (FRF 9T H) H RAr T4T
2l

Year/a¥ | Imports / 3mard | Exports / a3t
Y1 508 465
Y2 615 509
Y3 556 368
Y4 925 628
Y5 828 465

In which year is the ratio of imports to exports the lowest?

fora o smara gt Frafa @ sruTd ged e 82

Options:
1)Y3

2)Y2

3) Y1

4) None of these

g @ i T

Correct Answer: Y1
Candidate Answer: Y1
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QID : 248 -

The table given below shows the imports and
exports (in crore rupees) of Sugar for five
consecutive years.

A & 1 arfeer & 9t FAE asf F o S
F T JuT AATT (FUF TAC A) FT R 74T

2l
Year/a¥ | Imports / 3mara | Exports / @3t
Y1 508 465
Y2 615 509
Y3 556 368
Y4 925 628
Y5 828 465

In which year is the ratio of export to imports the highest?

fore af frafa e s o srguTa ge Sifdes 87

Options:
Y1

2)Y2
3)VY3

4) None of these
I

Correct Answer: Y1
Candidate Answer: None of these

T A i 76
QID: 249 -

The table given below shows the imports and
exports (in crore rupees) of Sugar for five
consecutive years.

#=r & g O # 9Tg FAEE asf & fore =fe
F AT g AT (F0F TAT A) F AT T=;T

2l
Year/a¥ | Imports / 3mara | Exports / a3t
Y1 508 465
Y& 615 509
Y3 556 368
Y4 925 628
Y5 828 465

What are the average yearly imports (in crore rupees)?

3fa aTfiens ST (its F9F H) fhaar &7
Options:

1) 487

2) 686.4

3) 589.2

4) None of these

34 @ i

Correct Answer: 686.4

Candidate Answer: 686.4
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QID : 250 -
The table given below shows the imports and
exports (in crore rupees) of Sugar for five
consecutive years.

A & 1 arfeer & 9t FAE asf F o S
F T JuT AATT (FUF TAC A) FT R 74T
gl

Year/a¥ | Imports / 3mara | Exports / @3t
¥l 508 465
Y2 615 509
Y3 556 368
Y4 925 628
Y5 828 465

Which year shows the highest percentage change in the exports in comparison to previous year?

forsa ay & gem 3, fora o fafa & g sifdres ufasra uRad gan 82

Options:

1) Y4

2) Y2

3)v5

4) None of these

Correct Answer: Y4
Candidate Answer: Y2

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

The idea is to (1)/ attract and captive (2)/ your audience. (3)/ No Error (4)

Options:

701

2)2

3)3

4) 4

Correct Answer: 2
Candidate Answer: 1

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Their is an (1)/ added pressure to succeed if you have (2)/ put money in it. (3)/ No Error (4)

Options:
1)1

2)2
3)3

44
Correct Answer: 1
Candidate Answer: 1

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Peter phoned since he went to America.

Options:
1) hasn't

2) didn't
3) wasn't

4) haven't
Correct Answer: hasn't
Candidate Answer: didn’t
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QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

She is neither intelligent laborious.

Options:
1) nor

2) or
3) none

4) no
Correct Answer: nor
Candidate Answer: nor

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Gasp

Options:
1) Fight for breath

2) Unblock
3) Unconstrict

4) Release
Correct Answer: Fight for breath
Candidate Answer: Fight for breath

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Over

Options:
1) Lie

2) Rest
3) Bygone

4) Settle
Correct Answer: Bygone
Candidate Answer: Bygone

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Deliberate

Options:

1) Unwitting

2) Intended

3) Chance

4) Indeterminate

Correct Answer: Intended
Candidate Answer: Chance

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Span

Options:
1) Extent

2) Extreme
3) Length

4) Space
Correct Answer: Extreme
Candidate Answer: Extreme

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Trigger

Options:
1) Set off

2) Produce
3) Activate

4) Halt
Correct Answer: Halt
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Candidate Answer: Activate

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Exhaustive

Options:

1) Incomplete

2) Sweeping

3) Thorough

4) In-depth

Correct Answer: Incomplete
Candidate Answer: Thorough

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Put into action

Options:
1) Systematically

2) To execute
3) Irregularly

4) Rapidly
Correct Answer: To execute
Candidate Answer: Rapidly

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Do away with

Options:
1) Impossible

2) Invalid
3) To abolish

4) Empty
Correct Answer: To abolish
Candidate Answer: Impossible

QID : 263 - Improve the bracketed part of the sentence.

The little girl (fell from the roof).

Options:
1) fell down the roof

2) fell off the roof
3) fell below the roof

4) No improvement
Correct Answer: No improvement
Candidate Answer: fell off the roof

QID : 264 - Improve the bracketed part of the sentence.

The train was late (for) forty minutes.

Options:
1) by

2) of
3) from

4) No improvement
Correct Answer: by
Candidate Answer: by

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A place where government public records are kept.

Options:
1) Archive

2) Elective
3) Locomotive

4) Furtive
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Correct Answer: Archive
Candidate Answer: Archive

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

That which lasts for a short time.

Options:

1) Preparatory
2) Declaratory
3) Circulatory
4) Transitory

Correct Answer: Transitory
Candidate Answer: Transitory

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Arrangment

2) Arrangement
3) Arangement

4) Arrangemant
Correct Answer: Arrangement
Candidate Answer: Arangement

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Bisiness

2) Biziness
3) Businuss

4) Business
Correct Answer: Business
Candidate Answer: Business

QID : 269 - Rearrange the parts of the sentence in correct order.

Propensity to addiction

P: predisposition of the individual
Q: in other words, is not a

R: but the result of social contest

Options:

1) PRQ

2) PQR

3) RPQ

4) QPR

Correct Answer: QPR
Candidate Answer: QPR

QID : 270 - Rearrange the parts of the sentence in correct order.

Environmental protection

P: and management is

Q: deservedly attracting a lot
R: of attention these days

Options:
1) PQR

2) PRQ
3) QPR

4) RPQ
Correct Answer: PQR
Candidate Answer: PQR

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The birth of Lord Krishna marks the end of and cruelty over mankind. Krishna is a of righteousness. Sri Krishna was born at midnight of this day. Krishna
Janmashtami is observed on the Ashtamitithi, the eighth day of the dark half or Krishna Paksha of the month of Shraavana. He is as an avatar of the God
Vishnu. The day is celebrated with great zeal devotion. The Lord Krishna devotees observe fast for the entire day and night, him.

Lord Krishna marks the end of
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ptions:
1) humanity

2) love
3) peace

4) inhumanity
Correct Answer: inhumanity
Candidate Answer: love

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The birth of Lord Krishna marks the end of and cruelty over mankind. Krishna is a of righteousness. Sri Krishna was born at midnight of this day. Krishna
Janmashtami is observed on the Ashtamitithi, the eighth day of the dark half or Krishna Paksha of the month of Shraavana. He is as an avatar of the God
Vishnu. The day is celebrated with great zeal devotion. The Lord Krishna devotees observe fast for the entire day and night, him.

Krishna is a of righteousness.

Options:
1) symbol

2) mode
3) mean

4) light
Correct Answer: symbol
Candidate Answer: symbol

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The birth of Lord Krishna marks the end of and cruelty over mankind. Krishna is a of righteousness. Sri Krishna was born at midnight of this day. Krishna
Janmashtami is observed on the Ashtamitithi, the eighth day of the dark half or Krishna Paksha of the month of Shraavana. He is as an avatar of the God
Vishnu. The day is celebrated with great zeal devotion. The Lord Krishna devotees observe fast for the entire day and night, him.

Heis as an avatar of the God Vishnu.

Options:

1) located

2) observed
3) occurred

4) considered
Correct Answer: considered
Candidate Answer: occurred

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The birth of Lord Krishna marks the end of and cruelty over mankind. Krishna is a of righteousness. Sri Krishna was born at midnight of this day. Krishna
Janmashtami is observed on the Ashtamitithi, the eighth day of the dark half or Krishna Paksha of the month of Shraavana. He is as an avatar of the God
Vishnu. The day is celebrated with great zeal devotion. The Lord Krishna devotees observe fast for the entire day and night, him.

The day is celebrated with great zeal

Options:
1) but

2) and
3) only

4) some
Correct Answer: and
Candidate Answer: and

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The birth of Lord Krishna marks the end of and cruelty over mankind. Krishna is a of righteousness. Sri Krishna was born at midnight of this day. Krishna
Janmashtami is observed on the Ashtamitithi, the eighth day of the dark half or Krishna Paksha of the month of Shraavana. He is as an avatar of the God
Vishnu. The day is celebrated with great zeal devotion. The Lord Krishna devotees observe fast for the entire day and night, him.

entire day and night, him.

Options:

1) cursing

2) finding

3) worshipping

4) missing
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Correct Answer: worshipping
Candidate Answer: cursing

QID : 276 - What is the finance required to start a business is called?

IR [ e o (oIQ NI fo T svgeral &2

Options:
1) Profit
A

2) Income
i

3) Capital

4) Resource

GEIGES

Correct Answer: Capital

Candidate Answer: Capital

QID : 277 - Which factor of production is abundant in India?

IR H IeTE T DI TT Teeh TR AT H 82

Options:

1) Machines
afiA

2) Labour
sifien

3) Capital

4) Enterprise
SeIH

Correct Answer: Labour

Candidate Answer: Labour

QID : 278 - In which schedule of the Indian constitution ‘names of the states and their territorial jurisdiction’ has been told?

IR T & 5 orggh & rw & A qur 99 Iy &' & aR § Jaran 82
Options:

1) First Schedule

gt

2) Second Schedule

3) Third Schedule

e

4) Fourth Schedule
e
Correct Answer: First Schedule

Candidate Answer: Fourth Schedule

QID : 279 - In which Article of the Indian Constitution is the defination of ‘Rights to life and personal liberty’ given?

TR FfAe & A9 § Srgeee | 'Sfaw aur fee s & sifier’ i aamen § S 82

Options:

1) Article 25
TS 25
2) Article 26
TG 26
3) Article 21
3T 21

4) Article 24
TG 24

Correct Answer: Article 21
e 21

Candidate Answer: Article 24

TG 24

QID : 280 - Which Mauryan ruler was the first to try to take his message to the people through inscriptions?

RS 27 % U8 o 9 ATk o fSIgiA SifeRal GIRT ST deh 7O+ TRT UgHT ol TaTH fohar om?
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1)p(t3lz2:;1ragupta Maurya

T HA

2) Ashoka

MR

3) Bindusara
4) Bimbsara
IEERIT

Correct Answer: Ashoka
kicH

Candidate Answer: Ashoka
kSicH

QID : 281 - Before 1905, which was the biggest province of British India?

1905 & uget, fafesr sTRa &1 T are1 Ui i 47 uT?
Options:

1) Madras

Ha

2) Hyderabad

ECEIES

3) Delhi
feeett

4) Bengal
ST

Correct Answer: Bengal
ST

Candidate Answer: Bengal
ST

QID : 282 - How long does the earth takes to rotate 1°?

gedt fhew Twg & 1° g STt 82

Options:

1) 4 minute
4 e

2) 15 minute
15 e

3) 36 minute
36 e

4) 24 minute
24 fame

Correct Answer: 4 minute
4 e

Candidate Answer: 15 minute
15 e

QID : 283 - What is the position of Jupiter from the Sun among the eight planets?

37e TEl H Jeeufd gif @ o & e R e 2
Options:

1) First

ugar

2) Second

IR
3) Third
RN

4) Fifth

oiEr

Correct Answer: Fifth
oiar

Candidate Answer: First
gl

QID : 284 - Which among the following is not an example of aquatic habitat?

fAfafad & @ B9 91 Ueh STofig 31T o Teh IST8R0T T8l 8?2

Options:

1) Ponds
ST

2) Swamps
qef-gel

3) Lakes
EIE]

4) Forests
a1

Correct Answer: Forests
qq
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Candidate Answer: Forests
aq

QID : 285 - Phloem always flows from a .

TAgH T vafed gl

Options:

1) carbohydrate source to carbohydrate sink
FIEIEESE FHUS ah

2) carbohydrate sink to carbohydrate source

FIEIEIEST PUS T HISIIERe Hid dh

3) root to leaf

STe § gt a

4) trunk leaf

I § ot ad

Correct Answer: carbohydrate source to carbohydrate sink

FHIETGIESE G U FHIAEIESE FUS dh

Candidate Answer: root to leaf

STe @ ufal as

QID : 286 - Thromoboplastin, required in blood clotting, is secreted by

I<h ohT YahT STHT o foTT STTaTeh AT ehl AT0T HRAT I

Options:
1) monocytes

2) lymphocytes
RS
3) erythrocytes
gReTETEe

4) platelets
Correct Answer: platelets

Candidate Answer: lymphocytes

QID : 287 - What is the ray that comes back from the surface after reflection called?

U8 @ WRIgd S UTd aToE 31 arelt Tehir fRoT <Rt o shed 87

Options:
1) Incident ray
smafad faor

2) Refracted ray

Suafdd faor

3) Reflected ray

wRrafdd o

4) Diffused ray

faafa femzor

Correct Answer: Reflected ray

Candidate Answer: Reflected ray

QID:288-A is a safety device which prevents damages to electrical circuits and possible fires.

Ut GREMGh 8, it fagd uRkuy oht &rfd T Furierd 31 o ufd Ram yer & 81

Options:
1) Filament

daq
2) Battery
F&

3) Cell

e

4) Fuse

T

Correct Answer: Fuse
Eel

Candidate Answer: Fuse

kG

QID : 289 - Which of the following function are performed by ALU of a computer?

1 7 § 9 @ R R & UL . g, G R S 87
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tions:

1)pArithmetic Operations

37 IO SifTReA

2) Logic operations

T T SATIRRA

3) Both Arithmetic and Logical operations

3R 0N AT dch T SR gt

4) Storage of Data

Correct Answer: Both Arithmetic and Logical operations
3R IO AT Feh T TR &Y

Candidate Answer: Both Arithmetic and Logical operations
3k 0N AT dch T SR g1

QID : 290 - On heating, solid is directly converted into gaseous state. This process is called

T A R, g A g srqen A uRaffagarg saufhar sl _ sgr S

Options:

1) Sublimation
k3

2) Evaporation

3) Diffusion
faaRor

4) Condensation
g

Correct Answer: Sublimation
Sedfurden

Candidate Answer: Evaporation

QID : 291 - Which of the following is least compressible?

Frerfoifra & & @ ot gaw g 22

Options:
1) Gas
ue

2) Liquid
o

3) Solid
39

4) None of these
FTHIFE TG

Correct Answer: Solid

Candidate Answer: Liquid
o)

QID : 292 - Predator is an ogranism that eats its .

AR Teh sfie & it e EaRCIcIE]
Options:

1) prey
R

2) grabage
hTRT

3) itself
37T 3T

4) None of these

T & Y T

Correct Answer: prey
AR

Candidate Answer: prey
IREAN

QID : 293 - In which state the programme, UDAAN which aims to provide skill training and enhance the employability of unemployed youth is implemented?

R T o RISFTR garelt i ASHIR &l H gieg a1 & g g, . T. T Toh Hhrishd & foreenT I833 ehiiet UfRI&T0T Ua e 82

Options:

1) Jammu and Kashmir
T 3R AR

2) Assam

TH

3) Kerala
T

4) Bihar
[EEI

Correct Answer: Jammu and Kashmir

S 3R AR
Candidate Answer: Bihar
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QID : 294 - Who discovered the phenomenon of Photoelectric emission?

Wi SAfREeh TTE hl T i @I foher hI?

Options:

1) Heinrich Hertz
&R g

2) De Broglie

3 st

3) Benjamin Franklin
oA thenfer

4) Olaus Roemer
3Nerg IR

Correct Answer: Heinrich Hertz
&R st

Candidate Answer: De Broglie

St et

QID : 295 - Which Indian player won the 2017 Australian Open Super series badminton title?

fRe TR RSt = 2017 o oitu R Ssfiier fadme siar?

Options:
1) Srikanth Kidambi
fopia Poc
2) Parupalli Kashyap
GG
3) Prannoy Kumar

FAR
4) B. Sai Praneeth
t. arg it

Correct Answer: Srikanth Kidambi

sfiepid fordatt
Candidate Answer: Srikanth Kidambi
sftepid forcsht

QID : 296 - In which state are 'Patachitra paintings' found?

fohe Treg & 'gafe Rert urg STt 82
Options:

1) Kerala

heeT

2) Goa
e

3) Odisha
anfesm

4) Haryana
giamom

Correct Answer: Odisha
afesm

Candidate Answer: Odisha
affsam

QID : 297 - Which hockey player has been awarded with 2017 Dhyanchand Award?

forg giehl RaaTSt &t 2017 eTTeig QRERR & AT fomar mar 82
Options:
1) Dhanraj Pillay
RISt freet
2) Sandeep Singh
T g
3) Sumarai Tete
4) None of these
CEaE

Correct Answer: Sumarai Tete

Candidate Answer: Sandeep Singh
Téu g

QID : 298 - Who is the author of the book named “Pakistan: the Gathering Storm"?

"gTfehEaT: & efar @i AT Ydieh %/ diaeh dH &2
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Options:
1) Benazir Bhutto
EESIN

2) Salman Rushdie
BELIEEG]

3) Parvez Mushraf
TRAT IIRF

4) Imran Khan
FRE @H

Correct Answer: Benazir Bhutto

Candidate Answer: Imran Khan
FRE @

QID : 299 - Which is the fifth preference category under the employment based immigration visa also called as ‘Green Card for Greenback’ scheme?

‘fiT 1S BR M F' T oft g arell AR SmenlRa sruara= dismait & siaifa uiaar sifderay aif i ar g2

Options:

1) EB-5

2)H1B

3) HB-5

4) None of these
e Tl

Correct Answer: EB-5
Candidate Answer: H1B

QID : 300 - Against India's which neighbouring country the Britain used Indian Sepoys and the British Indian Army in opium wars?

31 7 vRa & v 221 & faveg TRl ot e fafesr feam et o SuivT sitftrmm gg & forar am?
Options:

1) Pakistan

ElEasic

2) China

EiG]

3) Nepal

Jure

4) Bhutan
A=

Correct Answer: China
Sic

Candidate Answer: China
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